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CM En 733 ~ 2900 r-p.m.

50-160
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Tolerance: IS0 9906:2012 - Grade 3B
TYPE A Q (m*/h - I/min)
o P1 . | 0 [21[2a[27 30 [33[36 |30 [42[48 5460 66][72]78
3~ (kW) 0 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 800 | 900 [1000| 1100|1200 | 1300
3x400V
(HP) | (kW) | 3~ | 50Hz -l
50-160 B1 75 5,5 6,2 10,7 129,3|30,3|30,2| 30 [ 29,6| 29 |28,4|277|26,9|25,2(23,2 21 (18,7 |16,1|13,2
50-160 B 75 5,5 6,7 16 (31,1321 32 (31,7314 31 |30,4|29,7|289| 273 |253|23,1/20,7| 18 | 15,2
50-160 A1 10 75 | 83 | 141 |343|354|353| 35 |34,7|343 33,8332 32,4307 287 | 265 24,3| 21,8| 19
50-160 A 10 75 9.4 15,8 |36,7|379|378 (377|374 |371|36,6|36,1|354|33,9|32,1| 30 | 278 | 25,3 | 22,6




